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 1שאלה 

 שעות(. 1.2דקות ) 12שעה אחת ו .  א

 שעות(. 0.8דקות ) 48ב.  

 ק"מ. 40   ג.

 

 2שאלה 

 C(15,0)   ,   B(5,0)   א.

 4  .1ב

 A(13,-4)או    A(7,-4)  .2ב

 = y   ג.
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4
𝑥 − 13

3

4
 

 62.5ד.  

 

 3שאלה 

 P = 0.14   א.

 P = 0.9804 ב.  

  ג. 
13

43
 

 מועמדים. 35ד.   

 

 4שאלה 

 הוכחהא. 

 הוכחהב. 

 ג. הוכחה

 = BEד. 
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 5שאלה 

 ABC = 46.567°∢  .1א

 AD = 5.147  . 2א

 BAD = 34.357°∢.  3א

   DE = 7.088ב.   

 0.088   ג.  

 

 6שאלה 

 x ≠ ±1.  1א

 x = 1  ,x = -1ת:  ואנכי .  אסימפטוטות2א

   y = 4 אסימפטוטה אופקית:        

)  ,  (0,1).  3א
1

2
, 0)   ,  (-

1

2
, 0) 

 max(0,1)ב.   

 ג.

 

 k = 7.  1ד

 min(0,6).  2ד

 

 

 

 



 
 

 

 7שאלה 

 a=3  א.

 x ≥ -3 ב.  

 ינימוםמ (4-,2-)בקצה,    מקסימום (3-,3-)ג.  

 ד. 

 

 IIIגרף   ה.

 1ו.  

 

 8שאלה 

  = AC = t  ,  9t + 2t-CO =     ,t9+  2t2-AB  א.

 t=4ב.  


